English MCQs

1) The report issued by the committee was
completely -, extolling in great detail the plan’s
strengths but failing to mention its
A) published, recommendations
B) unbiased, weakness

C) one-sided, shortcomings

D) printed, viewpoints

E) skewed, defenders

2) The speaker did not properly use the time as he went on
- on one point alone.

A) Deliberating
B) Diluting
C) Dilating
D) Devoting

E) Distributing

3) Mounting unemployment is the most serious and
problem faced by Pakistan today.

A) Unpopular

B) Intractable

C) Dubious

D) Profound

E) Unattainable

4) How do you expect that country to progress when her
government is corrupt, - and still largely feudal?
A) Despotic

B) Demeaning

C) Devalued

D) Dwindling

E) Demolished

5) Manpower is the - means of converting other
resources to mankind’s use and benefit.




A) Insuperable

B) Inimitable

C) Indivisible

D) Indispensable

E) Inequitable

6) The officer should deal
subordinates.
A) out

B) of

C)on

D) in

7) He is zealous
A) with

B) for

C)in

D) after

8) The minister promised to look
personally.

A) on

B)in

C) into

D) after

9) Your should divest your mind
A)in

B) of

C) with

D) from

10) They prohibited him
A) for

B)in

C)on

D) from

- equal justice to all his

- the popularity of games.

- the matter

- fear.

- entering the house.



11) Prediction : Astrology
A) Forecast : Meteorology
B) Omen : Evil

C) Premonition : Tragedy
D)A Probability : Statistics
12) Elusive : Capture

A) Persuasive : Convince
B) Elastic : Stretch

C) Headstrong : Control
D) Sensible : Decide

13) Kowtow : Bow

A) Abjure : Renounce

B) Gauche : Spruce

C) Garble : Represent

D) Boisterous : Bubbly
14) Clergy : Laity

A) Single : Pair

B) Employer : Industry
C) Host : Show

D) Wholesale : Market
15:A Rampart : Fortress
A) River : Canal

B) Cage : Panther

C) Ladder : Roof

D) Fence : House
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Math MCQs

1. A German class has 12 boys and 18 girls. What fraction of
the class are boys?

A) 1/6B) 3/5

C) 2/3

D) 4/15

2. The least number which when divided by 35, leaves a
remainder of 25; when divided with 45 leaves a remainder of
35 and when divided by 55 leaves 45 as a remainder, is

A) 3455

B) 3465
C) 3475
D) 10
3. It takes Riaz 30 minutes to mark a paper. Razi only needs
25 minutes to mark a paper. If they both start marking paper
at 11:00 AM, What is the first time they will finish marking a
paper at the same time?

A) 12:30

B) 12:45
C) 1:30
D) 12:25



4. A rectangular field which is twice as long as it is broad, has
an area of 14450 M2, What is its perimeter?

A) 85 m

B) 510 m
C)165m
D) 170 m

5. The difference between the first two perfect squares that
end witha 9is:

A) 11

B) 40

C) 30

D) 120

6. Asim has an average of 60 on his four math tests. After
taking the next test, his average dropped to 58. Find his most
recent test grade.

A) 40

B) 50

C) 48

D) 32

7. In a city 90% of the population owns a car, 15% own a
motorcycle, and everybody owns one or the other or both.
What is the percentage of motorcycle

A) 15%B) 5%

C) 75%

D) 33 1/3%

8. If 15 workers can paint a certain number of houses in 24
days, how many days will 40 workers take, working at the
same rate, to do the same job?

A) 12 Days

B) 18 Days

C) 15 Days

D) 9 Days



9. Jafer drew a square, He then erased it and drew a second
square whose sides were 3 times the side of the first square.
By what percent was the area of the square increased?

A) 300%B) 800%

C) 400%

D) 200%

10. The price of a can of acid was increased by 20%. How
many cans can be purchased for the amount of money that
used to buy 300 cans?

A) 250

B) 320

C) 150

D) 240

11. At Bilal's Discount Hardware everything is sold for 30%
less than the price market. If Bilal's buys tool bits for Rs. 96,
What price should he mark them if he wants to make a 20%
profit on his cost?

A) 117

B) 146

C) 96

D) 127

12. If A gets 25% more than B and B gets 20% more than C.
The share of C out of a sum of Rs. 740 is:

A) 150

B) 200

C) 250

D) 300

13. Honda Atlas issued 100,000 shares of stock. In 1990,
each share of stock was worth Rs. 152.50. In 1993, each
share of the stock was worth Rs. 21.20. How much less the
100,000 shares worth in 1993 than in 19907

A) 2052459

B) 3130000



C) 15250000
D) 12120000
e 14. If 15 boys working independently and at the same rate
can assemble 30 machines in an hour, How many machines
would 48 boys working independently and at the same rate
assemble in 40 minutes?
A) 54
B) 64
C) 96
D) 68
e 15. An office has a staff of 6 people. A certain project will take
the regular staff 24 hours to complete. Assuming that all the
workers will perform at this rate, How many additional workers
must be employed to complete the job in 8 hours?
A) 18
B) 06
C)12
D) 10
e 16. 40% of a number is 56. What is the number?
(A) 120
(B) 140
(C) 160
(D) 180
e 17) What is the average of the first 150 natural numbers?
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General Knowledge

1. The correct sequence of planets in the descending order of
their equatorial diameter is:

A) Mars, Pluto, Uranus, Earth

B) Earth, Mars, Pluto, Uranus

C) Pluto, Uranus, Mars, Earth

D) Uranus, Earth, Mars, Pluto

2. The exact time taken by the earth for single rotation on its
own axis is:

A) 24 hrs

B) 24 hrs 35 sec

C) 23 hrs 50 minutes 7.2 sec

D) 23 hrs 56 minutes 4.09 sec

3. Which of the following regions are regarded as areas of
high density of population?



A) East Asia, Central and Southern Europe, Tropical Deserts
B) Amazon and Congo Basins, South East Asia, European
Russia

C) Congo Basin and Indonesia, Central and Southern Europe,
European Russia

D) East Asia, Southern Asia, North Western Europe

4. Name the capital of Iceland

A) Loma

B) Port Vila

C) Reykjavik

D) Free Town

5. Which country were involved in 100 year war?

A) Turkey and Austria

B) England and France

C) Palestine and Israel

D) Germany and Russia

6. World’s longest ruling head of government is from:

A) Switzerland

B) Cuba

C) Zimbabwe

D) New Zealand

7. Maximum spoken language in the world is:

)

) English
C) Mandarin

) :

8. The largest automobile manufacturing centre in the world is
located at:

A) Detroit

B) Tokyo

C) Birmingham

D) Berlin



9. Second most populous country is:

A) Russia

B) India

C) Nigeria

D) Indonesia

10. The largest lake of salt water the world is
A) Baykal

B) Chad

C) Kariba

D) Caspian

11. Indonesia is situated in:

A) South-East Asia

B) South Asia

C) North-East Asia

D) West Asia

12. Denmark is Situated in:

A) Northern Europe

B) Southern Europe

C) Western Europe

D) Eastern Europe

13. The Industrial revolution first tool place in:
A) England

B) America

C) France

D) Germany

14. Who among the following was a poet of the Italian
Renaissance?

A)A Dante

B) Virgil

C) Homer

D) Rossetti

15. The “Communist Manifesto” was first published in:
A) German



B) French
C) English
D) Russian
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Pakistan Studies

Q. What language is spoken in Qalat and its surrounding areas of Balochistan?
(A) Balochi

(B) Barahvi



(C) Saraiki

(D) Hindko

The answer is: (B) Barahvi A

Q. Pakistan is separated from Tajikistan by Afghanistan’s narrow corridor called

(A) Tibet Corridor

(B) Tribal Corridor

(C) Makran Corridor

(D) Wakhan Corridor

The answer is: (D) Wakhan Corridor A

Q. Pakistan tested nuclear weapons on

(A) 24 May 1998

(B) 26 May 1998

(C) 28 May 1998

(D) 30 May 1998

The answer is: (C) 28 May 1998

Q. “Pakistan Day” is celebrated throughout Pakistan each year on

(A) 23 March

(B) 14 August



(C) 6 September

(D) 25 December

The answer is: (A) 23 March 4

Q. The Muslim League passed Lahore Resolution, popularly known as Pakistan

Resolution, on

(A) 12 April 1940

(B) 12 April 1947

(C) 23 March 1940

(D) 23 March 1947

The answer is: (C) 23 March 1940 4

Q. Which kind of system of government was introduced in 1973 constitution?

(A) Socialist

(B) Presidential

(C) Mixed

(D) Parliamentary

The answer is: (D) Parliamentary A4

Q. The Pakistan Resolution was presented on 23 March 1940 by

(A) Quaid-e-Azam



(B) A.K. Fazlul Haque

(C) Chaudhry Khaliquzzaman

(D) Sir Aga Khan

The answer is: (B) A.K. Fazlul Haque 4

Q. “Quit India” Movement in 1942 was started by
(A) Mahatma Gandhi

(B) Quaid-e-Azam

(C) Chaudhry Rehmat Alli

(D) Jawaharlal Nehru

The answer is: (A) Gandhi 4

Current Affairs

Q. In October 2022, ruling party of which country rejected the independence of Taiwan

in its constitution?
(A) China

(B) Japan

(C) Russia

(D) United States

The answer is: (A) China U



Q. The Sea of Azov is bounded by which of the following two countries?

(A) Ukraine and Russia

(B) Georgia and Russia

(C) Romania and Azerbaijan

(D) Canada and United States

The answer is: (A) Ukraine and Russia ¥

Q. Which of the following country is NOT a member of Quadrilateral Security Dialogue
(QSD or QUAD)?

(A) Australia

(B) India

(C) Japan

(D) United Kingdom

The answer is: (D) United Kingdom 4

The four members of QUAD are: Australia, India, Japan, and the United States.

Q. Who is the current President of Iran?

(A) Ahmadinejad

(B) Hassan Rouhani

(C) Muhammad Khatami



(D) Ebrahim Raisi

The answer is: (D) Ebrahim Raisi ¥

Q. “Airbnb” is an American company.
(A) transportation

(B) tire manufacturing

(C) pharmaceutical

(D) home-rental

The answer is: (D) home-rental 4

Q. The 2022 FIFA World Cup is scheduled to be held in
(A) France

(B) England

(C) Qatar

(D) Argentina

The answer is: (C) Qatar

Geography MCQs

World’s largest earth-fill Dam is:



(A) Hirakud Dam
(B) Tarbela Dam
(C) Cirata Dam
(D) Fort Peck Dam

Answer: (B) Tarbela Dam

Girdle of fire surrounds which Ocean?

(A) Pacific Ocean
(B) Atlantic Ocean
(C) Arctic Ocean
(D) Indian Ocean

Answer: (A) Pacific Ocean

Total Area of the world ocean is about:

(A) 261.132 million Square KM
(B) 303.187 million Square KM
(C) 361.9 million Square KM
(D) 398.6 million Square KM

Answer: (C) 361.9 million Square KM

Everyday science



Q. The Sun’s mass is primarily consist of hydrogen (about 73%). The second main

constituent of the Sun’s mass (about 25%) is

(A) argon

(B) nitrogen

(C) carbon dioxide

(D) helium

The answer is: (D) helium ¥

Q. What play an important role in determining the hottest temperature the human body

can tolerate?

(A) altitude

(B) humidity

(C) pollution

(D) type of gasses

The answer is: (B) humidity A

Q. Transformers are used to change voltage levels.

(A) alternating current

(B) direct current

(C) circuit



(D) none of these

The answer is: (A) alternating current 4

Q. What type of rocks are formed when continental plates collide with each other?

(A) igneous rocks

(B) sedimentary rocks

(C) metamorphic rocks

(D) marble and onyx

The answer is: (C) metamorphic rocks ¥

Q. Rocks formed when magma or lava cools on Earth’s surface are called

(A) igneous rocks

(B) sedimentary rocks

(C) metamorphic rocks

(D) marble and onyx

The answer is: (A) igneous rocks A



